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t coding:utf-8 )
import serial ¥ pyserial B a—JL
import tkinter as tk #thE® 2a—)
import tkinter.scrol ledtext

import time

from time import sleep
from tkirter import ttk

instr = None
Baud =["115200°, "9600° ]
loopklg = 0
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root = thk.Tk()
root . zeomet rv (4303207 )
root.title( pwSerial Sample for DMM™)

labell = tk.label(root, text = "COM Fort:")
label 1. grid(row=0, column=0,sticky = tk.E,pady=3)
txtPort = ttk.Entrv(root . width=4 )
txtPort.delete(0, tk.END)

txtPort. insert (tk.END,"37)

txtPort . grid(row=0 , column=1,sticky = tk W)

label? = tk.Label(root, text = ° Baud :° )
label2. grid(row=0, column=2,sticky = tk.E)

chDevBaud= ttk.Combobox(root , width=10 ,value = Baud )
chDevBaud. et (Baud[1])
chDevBaud. grid(row=0 , column=3)

txtRecive = tkinter.scrol ledtext . Scrol ledText (root , width=02, height=13 )
txtRecive.grid(rom=4 , column=0, columnspan = 4 ,padx=10,padv=10)

btnl = tk.Buttonimaster=root, text="Open’ , command=Uper_clicked ,width=10)

btrl.gridirow = 1, column=0,pack=3 )

btn2 = tk_Button(master=root, text="Close' , command=Close_clicked , state =tk.DISABLED,width=10 )
btrnZ.gridirom = 1, column=1

root.mainloop()
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def Open_clicked():

zlobal instr
txtRecive.delete (71,07, k. END)

T
instr = serial.Serial () .
instr.port = "COM + txtPort.ast() Wi ndows COMAR— F? E Device Manager’(ﬁﬁno

# instr.port = TttyST + txtPort.zet () HLinux FEEECOMA — b dmese THESE
i instr.port = TtHWUSE 4+ txtPort.get () HLinux USBZSfEA— dmengfﬁﬁgo
¥ instr.port = "tivACM + txtPort.get()  #Linux USBZSHaA — dnesg THESY
instr.baudrate =chDevBaud. get () i R—L—riEE
instr.timecut = 0.5 B R JAT"“) HS5E

instr.opent)

instr.write( *cls¥n”, encode("ytf-87])
instr.owritel™idn?¥n" . encode ("t f-87))
sleep(0.]

txtRev = instr. read(296)

txtRecive. insert (tk.END, txtRov. decode( ascii’))

except :
txtRecive. insert (tk END, ‘Device Error’)

def Close_clicked():
global instr . . "
instr.write( syst: loc¥n” . encode("ut-87))

instr.close()

def imterval work(): B A m— L TIT DB & 5k
global loopFlg
zlobal instr

instrowrite("read?¥n” . encade (Tutf-87))

sleep(l. 1)
txtRov = irstr. read(256)
txtRecive. insert (1, END, time.ctime() + .7 + txtRev.decode(Tascii’' ). replace("¥r', 7))
txtRecive. See( end’
it (loopFlg == 1): )
root.after(1000, interval_work) B = LR (ns) TS
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